P ——

m Bracket Assy - Front/Rear RH/LH
- RD121

Specifications
Manufacturer R&R Products

Fits Models
John Deere 2653 Reel Mower

John Deere 2653A Reel Mower
John Deere 2653B Reel Mower
John Deere 3215 Reel Mower
John Deere 3215A Reel Mower
John Deere 3215B Reel Mower
John Deere 3225B Reel Mower
John Deere 3225C Reel Mower
John Deere 3235 Reel Mower
John Deere 3235A Reel Mower
John Deere 3235B Reel Mower
John Deere 3235C Reel Mower
John Deere 7700 Reel Mower
John Deere 8700 Reel Mower

Replacement Parts

R120177 Washer - Lock 3/8

R443110 Nut - 3/8-16 Hex

R453011 Washer - Flat 3/8 SAE
Y/Zinc

RMM604 Bolt - Carriage 3/8-16 x
2Gr5

R&R Products Inc
3334 E Milber St Tucson, 85714
800-528-3446

https://www.rrproducts.com/




